Warm-up - Jon. 7/
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1. The width of a rectangle is 12 cm less than twice the
length. The perimeteris 156 cm. Find the dimensions of the
rectangle. Write out the formula and include a let
statement.
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2. Graph the linear equation:
y=2x-95 Slope type: 24 5/

y, .
£
Y -~
[ = v
-

i

WLLLLLL L L L L L L L L L LSS L L




,m,m..,.,«.....;......,.M.WAM,M,M,M»_,,M‘r«.w,%

Warm-up Jan.7 |

i L !
1. The width of a rectangle is 12 cm less than twice the
length. The perimeteris 156 cm. Find the dimensions of the
rectangle. Write out the formula and include a let
statement.

| / / 7 -

| -+ ’f‘f/ V4 WL X =

|

| Py,

|

| e S 27 3
| S - : P . A p V4 )
( p.2 A . — g =t L gy v
| & e y.

= Sy f

| . /0 7

| ) ﬂ = WA , —— ik -

| - - AL /7« ot s 1

| 7 &

2. Graph the linear equation:
y=2x-95 Slope type: ___x24 5/ e
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B \ The standard form for linear equations is: Ax + By =C.
2 | |
B ‘ The slope-intercept form for linear equations is: y = mx + b, where "m” ‘
= \ represents the slope of the line and “b" is the y-intercept.
Y | .
. 1 For example, 2x +3y =15isa linear equation in standard form. Now let’s
~ ‘1 convert it into slope-intercept form.
=T [
ﬁ < y = mx + b < Step 1. write "y = mx + b" above the original
— w . X L equation.
v ‘ Example 1: 2)_< + 315 < Step %U Sdb?roc’r 2x from both sides.
% ¥ 2 S .f2x Can't combine 15 & -2x, they are not like terms
- \ 3Y =-2X + 15 < Step 3. Divide 3 fo both sides to get "y by itself.
~ | 3 3 3
-3 | 2 |
e % ; 3 = -§x +5 « Slope intercept — form
2 ' | y=mx+b
~ | Example 2: ‘\1\22 + Oy= 6x
| -1 f'_l_g
e 1 ZX =6x-12
Y 2 2 2
~= l y =3x-6 « Slope intercept — form

Write each equation in sfondord slope-intercept form
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‘8% / ydolb AluQ (g + xw = K)
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